1/4”7 — 20 UNC BRASS HEX NUT WITH
1/47 FLAT AND LOCK BRASS WASHERS

LUG CONNECTOR
SEE GENERAL NOTES NO. 7

1/4” — 20 UNC BRASS HEX NUT WITH
1/4”7 FLAT BRASS WASHER ON BOTH SIDES

MICARTA BOARD

1/4” FLAT BRASS WASHER

MICARTA BOARD

HEX HEAD CAP SCREW

TEST BOARD DETAIL - TYPICAL /~

NOT TO SCALE PL12-3C 020719 v




